Die Zahlen 4ucna J
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0 = null, Hob
1 = eins, 0.0UH
2 = 2wei, ABa
3 = drei, TpK

S = fiinf, natob

6 = sechs, wecTb
% = sieben, cemb
8 = acht, Bocemb

9 = neun, 0eBaThb
10 = zehn, oecartb

M = elf, o.omHHAOYATD

12 = 2wolf, nBenanuath

13 = dreizehn, TpuHa.nuats
14 = vierzehn, yetbipHanuaro
15 = funfzehn, naTHaouaTh
16 = sechzehn, wecTtHaouath

1 = siebzehn, cemHa.nuaTth
18 = achtzehn, Bocemua.nuaTthb

19 = neunzehn, oeBsTHALUATD
20 = 2wanzig, ABaLnuaTh
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4 = vier, YeTtbipe i\‘i
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21 = einundawanziq,
A48a.0uatb 04UH
22 = zueiundzwanzig,
8anuaTth OBa
23 = dreiundzwanzig
nBanuath Tpu
24 = vierundawanzig,
IBanyath YeTbipe
25 = fiinfundawanziq,
A4B8a40UaTbh NATb
26 = sechsundzwanziq,
AdBa.ouaTtb WeCTb
2% = siebenundzwanzig,
4.8a.0UaTbh CeMb
28 = achtundzwanzig,
0Banuatb Bocemb
29 = neunundawanzig,
A48a.40UaTb OeBATb
30 = dreiig,
TpPU.OuaTh
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31 = einunddreifig,
TPUAUATD O4MH
32 = 2weiunddreifig,
Tpuauath [48a
33 = dreiunddreifig,
TpUAUaTh TpU
34 = vierunddreif3ig,
TpPUAUATh YeThipe
35 = fiinfunddreifig,
TPUAUATD NSATb
36 = sechsunddreifig,
TPUAUSTD WeCTb
3% = siebenunddreifig,
TpuaouaTh cemb
38 = achtunddreif3ig,
TpnayaTb BoCeMb

39 = neununddrei[%ig,
TpuAaJaTh O,eBsTb

40 = vierzig,
COpPOK
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10 = zehn, oecstb 2@

20 = zwanzig, ABanuarth

30 = dreifig, TpnAauats @
40 = vierzig, copok %@

50 = fiinfaig, natboecst

60 = sechzig, wectbaecsr %

10 = siebzig, cembaecst @@
80 = achtzig, Bocembecst

90 = neunzig, neBsHocTO
100 = einhundert, cTo

101 = einhunderteins, cto o0.4uH

102 = einhundertawei, cto oBa

103 = einhundertdrei, cto Tpu ..

200 = 2weihundert, oBectu

300 = dreihundert, Tpucra

400 = vierhundert, vetoipecra

500 = fiinfhundert, natbcot

600 = sechshundert, wecTtbcoT @@
100 = siebenhundert, cembcot &@

800 = achthundert, Bocembcot

900 = neunhundert, nesatbcoT
1000 = eintausend, o.oHa Thicsua 3@@
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1000 = eintausend, ooHa Thicsua
2000 = zweitausend, nBe TbicsUM
3000 = dreitausend, Tpu Tbicsum
4000 = viertausend, yeTbipe Thbicsum

10000 = zehntausend,
0,eCTb TbiCSY

100 000 = einhunderttausend,
CTO ThICSU

1000 000 = eine Million,
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